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PART-A (General English) Total Marks :50 

To be answered only in English 
Answar any Five} out of Six Quastions. 

Each question carry 10 Marks Marks: 10 

1. Read the following passage carefillly and answer the questions below: 

An elderly carpenter was about to retixe. He told his employer-container of 
his plans to leave the house-building business and to live a more leisurely life 
withhiswife. The contractorwas sorrytoseehisgoodworkergo and askedif 
he could build just one more house as a personal favour. The carpenter said 
”yes” ,butoveraperiodoffime itwaseasyto seethatthe catpenter’s heartwas 
not in his work. This resulted 1n producing a work of inferior quality. It was an 
unfommatewaytoendadedicatedcarw. 

When the carpenter finished his work, his employer came to inspect the 
house. 'I‘henhehandedovetme housekgytoflxe carpenterandsaid“thisisyom. 
house. It’s my gift to you” The carpenter Was shocked. What a shanie ZIffi’é had“ 

‘ 

Egknown he was building his own house, he would have done it all so dxfferently 
and very nicely. We build our lives, ofien giving less than our best. Then with a 
shock- we realise we have to live m the house we have built. 

Your attitude, and the choices you make today, help build the ‘house’ you 
will live in tomorrow. Therefore build wisely. 

i. What did the carpenter tell his employer ? 

ii. How did his employer felt about this 17 
iii. What was the attitude of the carpenter ? 
iv. Why was the carpenter shocked ? 

v. What message you get from this ? 
' 

2. Letter writing Markszlo 

Imagine your name is XXXXX and you are working as Sr.Clerk and your pay is 
revised at Rs.30100/- and your junior pay is reviSed at R33 [0001- due to 
implementation of VII Pay Commission. Please make out a_ representation to 
SLDPO/MAS for stepping up of your pay on par with your junior. (Do not 
write your name) 

Contd..



3. Give ongosites . Markszlo 
I 

a) Able x b) Diflicult x c) Better x d) Bigger x e) Impossible x 
f) Suong x g) Stand x h) Love x i) Young x j) real x 

I 

4. Choose the 30014091309. gremsition to complete the sentence Markszlo 

i) The meeting will start ........... 10 AM 
‘ 

a) in 
{ 

.b) at c) along 

ii) One of the participant came ................ Singapore. 
- 

a) from b) since c) across 

iii) The minister came ....... Flight. 
21) next b) between 6.) by

' 

iv) I always keep my book ............. the drawer} - 

E», aflon“ ' 

' 

b) inside _c) ‘at 
‘ 

1. -_
' 

v) There is apen the table. 

a) at b) on c) outside 

. 

vi)Thecatis sleeping ..... thetable. 

a) under b) into c) fiom ? 

vii)Hehasbeenwaitingf01-him ...... ihalfanhour. 
a) down b) for 0) through 

viii) My class teacher came ....... the class. ' 

a) among b) into i c) in
. 

ix) The boy threw the paper ......... the Window. 
_ a) by b) through c) at 

x) The meeting will be ........... shortly. 
a) under b) over c) beside 

5.1 Fill in the blanks ( with degrees of comnarison) ' 

. Markszlo 
a) This is the ............... (big) house in this street. 

b) The donkey is the ....... (lazy) animal. 

Contd..
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c) The motor cycle is ......... (cheap) vehicle than a car 

d) The fox is the ......... (clever) animal. 

3) Hotel Day—inn is ......... (good) than most other hotels in Chennai. 

5.2 Match the following with correct agony 
a) Abundance a) Frayed 

b) Begged b) Plenty 

c) Climax ~ c) Comfortable 

d) Luxury . (1) Dealer 

3) Tradér e) Peak V 

6. Emma ariv TEN ofthe following ' mac 
NPS RELHS CTG CTL EGLC MACP‘ mLIC LND PFRDA 
SDLRCT RWFIRASDRM_IRMNIIRPS CLCME 

Answer any FIVE out of éix quxtions. 
I 

' Tom} Marks:50 
Each question may 10 marks 

I I 

7. Fill in the blanks. Clues are 2i§en to help ion - Maflézlo 

i) The Parliament of India consists of two houses known as . and ....... 

ii) Name the captain of Indian Cricket Tm when‘it won 1983 world cup. . . 

iii) What vitamin do oranges and lemons have in abundance. . . .‘ ...... 
iv) All India Insfimte of Medical Science situated at ........... 

v) What is the name of the first woman IPS Officer ......... 
(Ms.Kiranbedi, Loksabha&Rajyasabha, Vitamin-C, Mr.Kapil Dev, 

New Delhi) 
Marks: 10 

8. Name any Four Training institutes in Railway system and indicate the 
Department to which it mainly caters. 

Markszlo 

9.1 A bag contains 280 Mangoes. 18 of them have become rotten and 22 
Lost in transit. How many Mangoes on hand for eatable “I Contd..
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9.2 Ramesh bought 10 TV sets @ 15,000/- each. He sold 9 set @ 17,000]— 
each and the balance one set he'has gified to his fn'end. Find Profit (or) loss. 

Marksclo 

10.1 There were 38 children in a bus.7 of them have got down at the bus 
Stop and 15 more boarded at the school. How many children will be in the 
Bus ? 

10.2 Mohan went to a market _with Rs.359/- . He purchased a Pen costing 
Rs.1 13/- and véggablw at Rs.68/-. He has taken Rs. 1000/- through ATM. 
How much he will haVe on hand ? 

Markszlo 

11. Choose the correct answer for the follow—mg' 
> 
ggéstions. 

i) WhatiSthe colour ofII nd “A” Pass? 
:- ‘a‘; lfiflk I b) Green - :c)“Ygu&w’ d) Red 

_ 
ii) New Pension Scheme is 

a) contributory b) non-contributory 0) none 
iii) When Post-based roster is Kmade applicable in Promotion ? 

a) 10.02.1995 b) 21.08.1997 c) 15.12.1997 

iv) Which of the following is not termed as penalty under D&A Rulm,l968? 
a) Censure b) warning Qwith holding ofincrément. 

' ' 

Markszlo 

12.1 India has been divided in to 3 regions under Official Language 
Rules,1976 Viz .............

' 

12.2 Hindi Diwas is celebrated on ........,every year. 
12.3 Tamilnadu comes under .. ..Region. 
12.4 There are ..... languages enlisted in Eighth schedule of Indién 
Constitution. ' 

Contd..
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